Trig Identity Table

e*1? = cos(0) + jsin(6)

el 4710
2

cos(0) =

el —e?

sin(f) = 2]

cos(@ £z /2) =Fsin(0)

sin(@ £ 7 /2) = +cos(0)

2sin(8)cos(@) =sin(20)

sin?(8) +cos*(6) =1

cos®(0) —sin?(#) = cos(26)

cos?(#) = 1[1+cos(26)]

sin’(0) = 1[1-cos(26)]

cos*(0) = 1[3cos(8) + cos(36)]

sin(@) = 1[3sin(8) —sin(36)]

sin(A+ B) =sin(A)cos(B) + cos(A)sin(B)

cos(A+ B) =cos(A)cos(B) Fsin(A)sin(B)

sin(A)sin(B) = £ [cos(A— B) —cos(A+ B)]

cos(A) cos(B) =1 [cos(A—B) +cos(A+ B)]

sin(A) cos(B) = 1[sin(A— B) +sin(A+ B)]

acos(#) +bsin(8) = Ccos(d + ¢)

C=+a*+b*> ¢=tan*(-b/a)




Integral Table

J.udv = uv—.[vdu

[ 109a00dx = ()90 - [ f(x)g(x)dx

J.sin(ax)dx = —1cos(ax)

J'cos(ax)dx = Lsin(ax)

[ sin(ax)dx = g — Lsin(2ax)

J'cos2 (ax)dx = g —Lsin(2ax)

J. xsin(ax)dx = % [sin(ax) — ax cos(ax)]

J. xcos(ax)dx = % [cos(ax) + axsin(ax)]

'[ X* sin(ax)dx = % [2axsin(ax) + 2 cos(ax) — a>x” cos(ax)]

'[ x* cos(ax)dx = % [Zax cos(ax) — 2sin(ax) + a*x* sin(ax)]

_[sin(ax)sin(bx)dx = 2&5;5in((a—b)x)— 25 sin((a +b)x)

a’® #b?

Isin(ax) cos(bx)dx = —r5;c0((a — b)x) - z&z;cos((a+b)x)

a’#b?

_[cos(ax) cos(bx)dx = 25;sin((a —b)x)+ 525 sin((a +b)x)

a® #b?

J.eaxdx =Lle¥

J. xe”dx = 4 e™(ax—1)

J. x*e™dx = L e (a2x? —2ax+2)

'[e"x sin(bx)dx = e (asin(bx) — bcos(bx))

'[ e™ cos(bx)dx = —1-e™(acos(bx) + bsin(bx))




